## **Grant County Road Department**

P.O. Box 1183 Silver City, NM 88062

Joe Grijalva
Acting Road Director

May 3, 2022

Grant County Commissioners Grant County 1400 Hwy 180 E Silver City, NM 88061

RE: Abandonment of County Road 2-49 Bald Knoll Rd

Dear Commissioners:

After careful consideration and review between myself and the Planning Department, it is my recommendation that we go forth with the abandonment of the last 4.1 miles of County Road 2-49, Bald Knoll Rd.

On average, the County spends approximately \$6,016.80 per year to keep this road maintained properly. We currently have 6 cattle guards and 3 culverts installed throughout the road.

At this time, we feel it is in the best interest of Grant County to abandon this road.

Respectfully,

Joe Grijalva

Acting Road Director

BALD KNOLL 2-49 ROAD MAINTENANCE HISTORY

					r			
Date	Hours	Rate of Pay	Pay total	Equip1 cost	Equip1 total	Equip2 cost	Equip2 total	Grand Total
1/12/2011	1	\$17.75	\$17.75	\$5.00	\$5.00	\$51.00	\$51.00	\$73.75
2/17/2011	4	\$17.75	\$71.00	\$5.00	\$20.00	\$51.00	\$204.00	\$295.00
2/21/2011	9	\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
2/22/2011	9	\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
8/13/2011	1	\$17.75	\$17.75	\$5.00	\$5.00	\$51.00	\$51.00	\$73.75
9/19/2011	1	\$17.75	\$17.75	\$5.00	\$5.00	\$51.00	\$51.00	\$73.75
1/16/2012	4	\$17.75	\$71.00	\$5.00	\$20.00	\$51.00	\$204.00	\$295.00
1/17/2012	9	\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
3/13/2012	9	\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
2/4/2013	4	\$17.75	\$71.00	\$5.00	\$20.00	\$51.00	\$204.00	\$295.00
2/5/2013	6	\$17.75	\$106.50	\$5.00	\$30.00	\$51.00	\$306.00	\$442.50
2/6/2013	9	\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
8/19/2013		\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
3/10/2014	1	\$17.75	\$17.75	\$5.00	\$5.00	\$51.00	\$51.00	\$73.75
3/11/2014	2	\$17.75	\$35.50	\$5.00	\$10.00	\$51.00	\$102.00	\$147.50
3/12/2014	9	\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
11/17/2014		\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
11/18/2014	2	\$17.75	\$35.50	\$5.00	\$10.00	\$51.00	\$102.00	\$147.50
2/16/2015	2	\$17.75	\$35.50	\$5.00	\$10.00	\$51.00	\$102.00	\$147.50
2/17/2015	5	\$17.75	\$88.75	\$5.00	\$25.00	\$51.00	\$255.00	\$368.75
2/18/2015	5	\$17.75	\$88.75	\$5.00	\$25.00	\$51.00	\$255.00	\$368.75
8/24/2015		\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
8/25/2015	2	\$17.75	\$35.50	\$5.00	\$10.00	\$51.00	\$102.00	\$147.50
1/11/2016		\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
1/12/2016		\$17.75	\$159.75	\$5.00	\$45.00	\$51.00	\$459.00	\$663.75
9/19/2016		\$18.75	\$37.50	\$5.00	\$10.00	\$51.00	\$102.00	\$149.50
9/20/2016		\$18.75	\$37.50	\$5.00	\$10.00	\$51.00	\$102.00	\$149.50
9/21/2016	9	\$18.75	\$168.75	\$5.00	\$45.00	\$51.00	\$459.00	\$672.75

2/15/2017									
11/1/2017   6   \$19.21   \$115.26   \$20.10   \$120.60   \$68.24   \$409.44   \$645.30     11/2/2017   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$614.16   \$967.95     11/13/2017   7   \$19.21   \$134.47   \$20.10   \$140.70   \$68.24   \$477.68   \$752.85     1/4/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     2/21/2018   4   \$19.21   \$76.84   \$20.10   \$80.40   \$88.24   \$272.96   \$430.20     3/7/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     3/8/2018   9   \$19.21   \$172.89   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     3/13/2018   2   \$19.21   \$38.42   \$20.10   \$40.20   \$68.24   \$614.16   \$967.95     3/15/2018   3   \$19.21   \$57.64   \$20.10   \$60.30   \$68.24   \$614.16   \$967.95     3/15/2018   3   \$19.21   \$57.64   \$20.10   \$60.30   \$68.24   \$68.24   \$107.55     7/9/2018   3   \$19.21   \$57.63   \$20.10   \$60.30   \$68.24   \$62.472   \$322.66     7/11/2018   5.5   \$19.21   \$105.66   \$20.10   \$60.30   \$68.24   \$20.472   \$322.65     7/11/2018   8   \$19.21   \$19.21   \$20.10   \$60.30   \$68.24   \$64.472   \$322.65     7/11/2018   8   \$19.21   \$153.68   \$20.10   \$60.30   \$68.24   \$64.47   \$322.65     9/18/2018   9   \$19.21   \$153.68   \$20.10   \$60.30   \$68.24   \$64.40   \$66.24     9/18/2018   9   \$19.21   \$153.68   \$20.10   \$60.20   \$66.24   \$66.24   \$66.24     9/18/2018   9   \$19.21   \$153.68   \$20.10   \$20.10   \$68.24   \$66.24   \$66.50     9/18/2018   9   \$19.21   \$172.89   \$20.10   \$20.10   \$68.24   \$64.16   \$967.95     9/24/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$64.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$64.46   \$967.95     9/24/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$64.46   \$967.95     9/24/2018   1   \$19.21   \$172.89   \$20.10   \$160.80   \$68.24   \$64.46   \$967.95     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$64.46   \$967.95     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$64.46   \$967.95     1/15/2019   1   \$19.21   \$172.89   \$20.10   \$180.90   \$6	2/15/2017	1	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
11/2/2017   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$614.16   \$967.95     11/13/2017   7   \$19.21   \$134.47   \$20.10   \$140.70   \$68.24   \$477.68   \$752.85     1/4/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     2/21/2018   4   \$19.21   \$76.84   \$20.10   \$80.40   \$68.24   \$272.96   \$430.20     3/7/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     3/8/2018   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$161.41   \$967.95     3/13/2018   2   \$19.21   \$19.21   \$20.10   \$40.20   \$68.24   \$136.48   \$215.10     3/15/2018   3   \$19.21   \$57.64   \$20.10   \$60.30   \$68.24   \$136.48   \$215.10     3/15/2018   3   \$19.21   \$19.21   \$20.10   \$60.30   \$68.24   \$136.48   \$215.10     3/15/2018   3   \$19.21   \$19.21   \$20.10   \$20.10   \$60.30   \$68.24   \$107.55     7/9/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$60.30   \$68.24   \$107.55     7/9/2018   3   \$19.21   \$19.21   \$20.10   \$20.10   \$60.30   \$68.24   \$204.72   \$322.65     7/11/2018   5.5   \$19.21   \$105.66   \$20.10   \$10.55   \$68.24   \$375.32   \$591.53     8/14/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     9/17/2018   8   \$19.21   \$153.68   \$20.10   \$10.65   \$68.24   \$64.24   \$66.24     9/18/2018   8   \$19.21   \$153.68   \$20.10   \$10.60   \$68.24   \$64.59   \$66.00     9/19/2018   9   \$19.21   \$172.89   \$20.10   \$10.60   \$68.24   \$64.59   \$66.00     9/19/2018   9   \$19.21   \$172.89   \$20.10   \$10.60   \$68.24   \$64.59   \$66.00     9/19/2018   9   \$19.21   \$172.89   \$20.10   \$10.60   \$68.24   \$66.24   \$107.55     1/11/2019   5.5   \$19.21   \$19.22   \$20.10   \$20.10   \$68.24   \$66.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$66.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$66.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$68.24   \$107.55     1/15/2019   9   \$19.21   \$172.89   \$20.10   \$180	10/31/2017	1	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
11/13/2017   7   \$19.21   \$134.47   \$20.10   \$140.70   \$68.24   \$477.68   \$752.85     1/4/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     2/21/2018   4   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     2/21/2018   4   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     3/7/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     3/8/2018   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$614.16   \$967.95     3/13/2018   2   \$19.21   \$38.42   \$20.10   \$40.20   \$68.24   \$136.48   \$215.10     3/15/2018   3   \$19.21   \$57.64   \$20.10   \$60.30   \$68.24   \$204.72   \$322.66     7/3/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     7/9/2018   3   \$19.21   \$57.63   \$20.10   \$60.30   \$68.24   \$68.24   \$107.55     7/9/2018   3   \$19.21   \$57.63   \$20.10   \$60.30   \$68.24   \$68.24   \$107.55     7/9/2018   3   \$19.21   \$105.66   \$20.10   \$110.55   \$68.24   \$375.32   \$591.53     8/14/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     9/17/2018   8   \$19.21   \$153.68   \$20.10   \$160.80   \$68.24   \$66.24   \$107.55     9/18/2018   8   \$19.21   \$153.68   \$20.10   \$160.80   \$68.24   \$545.92   \$860.40     9/18/2018   9   \$19.21   \$172.89   \$20.10   \$160.80   \$68.24   \$64.41.6   \$967.95     9/24/2018   1.5   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/26/2019   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24	11/1/2017	6	\$19.21	\$115.26	\$20.10	\$120.60	\$68.24	\$409.44	\$645.30
1/4/2018	11/2/2017	9	\$19.21	\$172.89	\$20.10	\$180.90	\$68.24	\$614.16	\$967.95
2/21/2018         4         \$19.21         \$76.84         \$20.10         \$80.40         \$68.24         \$272.96         \$430.20           3/7/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$61.16         \$967.95           3/8/2018         9         \$19.21         \$38.42         \$20.10         \$40.20         \$68.24         \$614.16         \$967.95           3/13/2018         2         \$19.21         \$36.42         \$20.10         \$40.20         \$68.24         \$614.16         \$967.95           3/15/2018         3         \$19.21         \$57.64         \$20.10         \$60.30         \$68.24         \$204.72         \$322.66           7/3/2018         1         \$19.21         \$19.21         \$20.10         \$60.30         \$68.24         \$204.72         \$322.66           7/1/2018         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.66           7/1/2018         3         \$19.21         \$10.56         \$68.20         \$375.32         \$591.53           8/14/2018         1         \$19.21         \$10.10         \$20.10         \$68.24         \$66.24         \$107.55	11/13/2017	7	\$19.21	\$134.47	\$20.10	\$140.70	\$68.24	\$477.68	\$752.85
3/7/2018	1/4/2018	1	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
3/8/2018   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$614.16   \$967.95	2/21/2018	4	\$19.21	\$76.84	\$20.10	\$80.40	\$68.24	\$272.96	\$430.20
3/13/2018   2   \$19.21   \$38.42   \$20.10   \$40.20   \$68.24   \$136.48   \$215.10   \$3/15/2018   3   \$19.21   \$57.64   \$20.10   \$60.30   \$68.24   \$204.72   \$322.66   \$7/3/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55   \$7/9/2018   3   \$19.21   \$57.63   \$20.10   \$60.30   \$68.24   \$68.24   \$204.72   \$322.65   \$7/11/2018   5.5   \$19.21   \$105.66   \$20.10   \$110.55   \$68.24   \$375.32   \$591.53   \$8/14/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$375.32   \$591.53   \$8/14/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$375.32   \$591.53   \$8/14/2018   8   \$19.21   \$153.68   \$20.10   \$160.80   \$68.24   \$545.92   \$860.40   \$9/18/2018   8   \$19.21   \$153.68   \$20.10   \$160.80   \$68.24   \$545.92   \$860.40   \$9/19/2018   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$614.16   \$967.95   \$9/24/2018   1.5   \$19.21   \$28.82   \$20.10   \$180.90   \$68.24   \$68.24   \$107.55   \$1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55   \$1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55   \$1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55   \$1/15/2019   3   \$19.21   \$105.66   \$20.10   \$110.55   \$68.24   \$68.24   \$107.55   \$1/15/2019   3   \$19.21   \$105.66   \$20.10   \$110.55   \$68.24   \$68.24   \$107.55   \$1/15/2019   3   \$19.21   \$105.66   \$20.10   \$110.55   \$68.24   \$375.32   \$591.53   \$2/4/2019   3   \$19.21   \$105.66   \$20.10   \$110.55   \$68.24   \$375.32   \$591.53   \$2/4/2019   3   \$19.21   \$105.66   \$20.10   \$100.50   \$68.24   \$60.40   \$68.24   \$60.40   \$66.24	3/7/2018	1.	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
3/15/2018   3   \$19.21   \$57.64   \$20.10   \$60.30   \$68.24   \$204.72   \$322.66     7/3/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     7/9/2018   3   \$19.21   \$57.63   \$20.10   \$60.30   \$68.24   \$204.72   \$322.65     7/11/2018   5.5   \$19.21   \$105.66   \$20.10   \$110.55   \$68.24   \$375.32   \$591.53     8/14/2018   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     9/17/2018   8   \$19.21   \$153.68   \$20.10   \$160.80   \$68.24   \$545.92   \$860.40     9/18/2018   8   \$19.21   \$153.68   \$20.10   \$160.80   \$68.24   \$545.92   \$860.40     9/18/2018   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$614.16   \$967.95     9/24/2018   1.5   \$19.21   \$28.82   \$20.10   \$30.15   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     1/15/2019   3   \$19.21   \$105.66   \$20.10   \$110.55   \$68.24   \$68.24   \$107.55     1/10/2019   3   \$19.21   \$10.66   \$20.10   \$10.55   \$68.24   \$68.24   \$107.55     2/4/2019   3   \$19.21   \$17.89   \$20.10   \$10.55   \$68.24   \$375.32   \$591.53     2/4/2019   3   \$19.21   \$17.89   \$20.10   \$180.90   \$68.24   \$204.72   \$322.65     2/5/2019   4.5   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$614.16   \$967.95     4/16/2019   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$614.16   \$967.95     4/16/2019   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$68.24   \$107.55     1/25/2019   1   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     4/20/2019   2.5   \$19.21   \$48.03   \$20.10   \$180.90   \$68.24   \$68.24   \$107.55     8/20/2019   9   \$19.21   \$172.89   \$20.10   \$180.90   \$68.24   \$68.24   \$107.55     8/20/2019   9   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     8/20/2019   9   \$19.21   \$19.21   \$20.10   \$20.10   \$68.24   \$68.24   \$107.55     8/20/2019   9   \$19.21   \$19.21   \$20.10	3/8/2018	9	\$19.21	\$172.89	\$20.10	\$180.90	\$68.24	\$614.16	\$967.95
7/3/2018         1         \$19.21         \$19.21         \$20.10         \$68.24         \$68.24         \$107.55           7/9/2018         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           7/11/2018         5.5         \$19.21         \$105.66         \$20.10         \$110.55         \$68.24         \$375.32         \$591.53           8/14/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           9/17/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/18/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/18/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/18/2018         9         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/19/2018         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24	3/13/2018	2	\$19.21	\$38.42	\$20.10	\$40.20	\$68.24	\$136.48	\$215.10
7/9/2018         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           7/11/2018         5.5         \$19.21         \$105.66         \$20.10         \$110.55         \$68.24         \$375.32         \$591.53           8/14/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           9/17/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/18/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/18/2018         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$545.92         \$860.40           9/19/2018         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$545.92         \$860.40           9/19/2018         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           9/24/2018         1         \$19.21         \$20.10         \$20.10         \$68.24	3/15/2018	3	\$19.21	\$57.64	\$20.10	\$60.30	\$68.24	\$204.72	\$322.66
7/11/2018         5.5         \$19.21         \$105.66         \$20.10         \$110.55         \$68.24         \$375.32         \$591.53           8/14/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           9/17/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/18/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/19/2018         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           9/24/2018         1.5         \$19.21         \$28.82         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           9/24/2018         1.5         \$19.21         \$28.82         \$20.10         \$30.15         \$68.24         \$614.16         \$967.95           9/24/2018         1         \$19.21         \$19.21         \$20.10         \$68.24         \$62.44         \$107.55           1/15/2019         1         \$19.21         \$19.21         \$20.10         \$68.24         \$68.24	7/3/2018	1	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
8/14/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           9/17/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/18/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/19/2018         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           9/24/2018         1.5         \$19.21         \$28.82         \$20.10         \$30.15         \$68.24         \$102.36         \$161.33           12/11/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/15/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/31/2019         5.5         \$19.21         \$105.66         \$20.10         \$110.55         \$68.24         \$375.32         \$591.53           2/4/2019         3         \$19.21         \$57.63         \$20.10         \$60.30	7/9/2018	3	\$19.21	\$57.63	\$20.10	\$60.30	\$68.24	\$204.72	\$322.65
9/17/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/18/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/19/2018         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           9/24/2018         1.5         \$19.21         \$28.82         \$20.10         \$30.15         \$68.24         \$102.36         \$161.33           12/11/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/15/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/31/2019         5.5         \$19.21         \$105.66         \$20.10         \$110.55         \$68.24         \$375.32         \$591.53           2/4/2019         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           2/5/2019         4.5         \$19.21         \$86.45         \$20.10         \$90.45	7/11/2018	5.5	\$19.21	\$105.66	\$20.10	\$110.55	\$68.24	\$375.32	\$591.53
9/18/2018         8         \$19.21         \$153.68         \$20.10         \$160.80         \$68.24         \$545.92         \$860.40           9/19/2018         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           9/24/2018         1.5         \$19.21         \$28.82         \$20.10         \$30.15         \$68.24         \$102.36         \$161.33           12/11/2018         1         \$19.21         \$19.21         \$20.10         \$68.24         \$68.24         \$107.55           1/15/2019         1         \$19.21         \$19.21         \$20.10         \$68.24         \$68.24         \$107.55           1/31/2019         5.5         \$19.21         \$105.66         \$20.10         \$20.10         \$68.24         \$375.32         \$591.53           2/4/2019         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           2/5/2019         4.5         \$19.21         \$86.45         \$20.10         \$90.45         \$68.24         \$307.08         \$483.98           4/11/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16	8/14/2018	1	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
9/19/2018         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           9/24/2018         1.5         \$19.21         \$28.82         \$20.10         \$30.15         \$68.24         \$102.36         \$161.33           12/11/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/15/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/31/2019         5.5         \$19.21         \$105.66         \$20.10         \$110.55         \$68.24         \$375.32         \$591.53           2/4/2019         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           2/5/2019         4.5         \$19.21         \$86.45         \$20.10         \$90.45         \$68.24         \$307.08         \$483.98           4/11/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           4/16/2019         9         \$19.21         \$172.89         \$20.10         \$180.90	9/17/2018	8	\$19.21	\$153.68	\$20.10	\$160.80	\$68.24	\$545.92	\$860.40
9/24/2018         1.5         \$19.21         \$28.82         \$20.10         \$30.15         \$68.24         \$102.36         \$161.33           12/11/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/15/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/31/2019         5.5         \$19.21         \$105.66         \$20.10         \$110.55         \$68.24         \$375.32         \$591.53           2/4/2019         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           2/5/2019         4.5         \$19.21         \$86.45         \$20.10         \$90.45         \$68.24         \$307.08         \$483.98           4/11/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           4/16/2019         9         \$19.21         \$48.03         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           4/22/2019         2.5         \$19.21         \$40.03         \$20.10         \$20.10	9/18/2018	8	\$19.21	\$153.68	\$20.10	\$160.80	\$68.24	\$545.92	\$860.40
12/11/2018         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/15/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/31/2019         5.5         \$19.21         \$105.66         \$20.10         \$110.55         \$68.24         \$375.32         \$591.53           2/4/2019         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           2/5/2019         4.5         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           2/5/2019         4.5         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           2/5/2019         4.5         \$19.21         \$86.45         \$20.10         \$90.45         \$68.24         \$307.08         \$483.98           4/11/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           4/16/2019         9         \$19.21         \$48.03         \$20.10         \$50.25	9/19/2018	9	\$19.21	\$172.89	\$20.10	\$180.90	\$68.24	\$614.16	\$967.95
1/15/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           1/31/2019         5.5         \$19.21         \$105.66         \$20.10         \$110.55         \$68.24         \$375.32         \$591.53           2/4/2019         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           2/5/2019         4.5         \$19.21         \$86.45         \$20.10         \$90.45         \$68.24         \$307.08         \$483.98           4/11/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           4/16/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           4/22/2019         2.5         \$19.21         \$48.03         \$20.10         \$50.25         \$68.24         \$170.60         \$268.88           5/15/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           8/20/2019         9         \$19.21         \$19.21         \$20.10         \$20.10	9/24/2018	1.5	\$19.21	\$28.82	\$20.10	\$30.15	\$68.24	\$102.36	\$161.33
1/31/2019       5.5       \$19.21       \$105.66       \$20.10       \$110.55       \$68.24       \$375.32       \$591.53         2/4/2019       3       \$19.21       \$57.63       \$20.10       \$60.30       \$68.24       \$204.72       \$322.65         2/5/2019       4.5       \$19.21       \$86.45       \$20.10       \$90.45       \$68.24       \$307.08       \$483.98         4/11/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         4/16/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         4/22/2019       2.5       \$19.21       \$48.03       \$20.10       \$50.25       \$68.24       \$170.60       \$268.88         5/15/2019       1       \$19.21       \$19.21       \$20.10       \$68.24       \$68.24       \$107.55         7/25/2019       1       \$19.21       \$19.21       \$20.10       \$68.24       \$68.24       \$107.55         8/20/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$68.24       \$107.55         9/25/2019       5       \$19.21       \$96.05       \$20.10	12/11/2018	1	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
2/4/2019         3         \$19.21         \$57.63         \$20.10         \$60.30         \$68.24         \$204.72         \$322.65           2/5/2019         4.5         \$19.21         \$86.45         \$20.10         \$90.45         \$68.24         \$307.08         \$483.98           4/11/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           4/16/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           4/22/2019         2.5         \$19.21         \$48.03         \$20.10         \$50.25         \$68.24         \$170.60         \$268.88           5/15/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           7/25/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           8/20/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           9/25/2019         5         \$19.21         \$96.05         \$20.10         \$100.50	1/15/2019	1	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
2/5/2019       4.5       \$19.21       \$86.45       \$20.10       \$90.45       \$68.24       \$307.08       \$483.98         4/11/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         4/16/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         4/22/2019       2.5       \$19.21       \$48.03       \$20.10       \$50.25       \$68.24       \$170.60       \$268.88         5/15/2019       1       \$19.21       \$19.21       \$20.10       \$20.10       \$68.24       \$68.24       \$107.55         7/25/2019       1       \$19.21       \$19.21       \$20.10       \$68.24       \$68.24       \$107.55         8/20/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         9/25/2019       5       \$19.21       \$96.05       \$20.10       \$100.50       \$68.24       \$341.20       \$537.75         12/11/2019       1.5       \$19.21       \$28.82       \$20.10       \$30.15       \$68.24       \$102.36       \$161.33	1/31/2019	5.5	\$19.21	\$105.66	\$20.10	\$110.55	\$68.24	\$375.32	\$591.53
4/11/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         4/16/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         4/22/2019       2.5       \$19.21       \$48.03       \$20.10       \$50.25       \$68.24       \$170.60       \$268.88         5/15/2019       1       \$19.21       \$19.21       \$20.10       \$20.10       \$68.24       \$68.24       \$107.55         7/25/2019       1       \$19.21       \$19.21       \$20.10       \$20.10       \$68.24       \$68.24       \$107.55         8/20/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         9/25/2019       5       \$19.21       \$96.05       \$20.10       \$100.50       \$68.24       \$341.20       \$537.75         12/11/2019       1.5       \$19.21       \$28.82       \$20.10       \$30.15       \$68.24       \$102.36       \$161.33	2/4/2019	3	\$19.21	\$57.63	\$20.10	\$60.30	\$68.24	\$204.72	\$322.65
4/16/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         4/22/2019       2.5       \$19.21       \$48.03       \$20.10       \$50.25       \$68.24       \$170.60       \$268.88         5/15/2019       1       \$19.21       \$19.21       \$20.10       \$20.10       \$68.24       \$68.24       \$107.55         7/25/2019       1       \$19.21       \$19.21       \$20.10       \$20.10       \$68.24       \$68.24       \$107.55         8/20/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         9/25/2019       5       \$19.21       \$96.05       \$20.10       \$100.50       \$68.24       \$341.20       \$537.75         12/11/2019       1.5       \$19.21       \$28.82       \$20.10       \$30.15       \$68.24       \$102.36       \$161.33	2/5/2019	4.5	\$19.21	\$86.45	\$20.10	\$90.45	\$68.24	\$307.08	\$483.98
4/22/2019       2.5       \$19.21       \$48.03       \$20.10       \$50.25       \$68.24       \$170.60       \$268.88         5/15/2019       1       \$19.21       \$19.21       \$20.10       \$20.10       \$68.24       \$68.24       \$107.55         7/25/2019       1       \$19.21       \$19.21       \$20.10       \$20.10       \$68.24       \$68.24       \$107.55         8/20/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         9/25/2019       5       \$19.21       \$96.05       \$20.10       \$100.50       \$68.24       \$341.20       \$537.75         12/11/2019       1.5       \$19.21       \$28.82       \$20.10       \$30.15       \$68.24       \$102.36       \$161.33	4/11/2019	9	\$19.21	\$172.89	\$20.10	\$180.90	\$68.24	\$614.16	\$967.95
5/15/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           7/25/2019         1         \$19.21         \$19.21         \$20.10         \$20.10         \$68.24         \$68.24         \$107.55           8/20/2019         9         \$19.21         \$172.89         \$20.10         \$180.90         \$68.24         \$614.16         \$967.95           9/25/2019         5         \$19.21         \$96.05         \$20.10         \$100.50         \$68.24         \$341.20         \$537.75           12/11/2019         1.5         \$19.21         \$28.82         \$20.10         \$30.15         \$68.24         \$102.36         \$161.33	4/16/2019	9	\$19.21	\$172.89	\$20.10	\$180.90	\$68.24	\$614.16	\$967.95
7/25/2019       1       \$19.21       \$19.21       \$20.10       \$20.10       \$68.24       \$68.24       \$107.55         8/20/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         9/25/2019       5       \$19.21       \$96.05       \$20.10       \$100.50       \$68.24       \$341.20       \$537.75         12/11/2019       1.5       \$19.21       \$28.82       \$20.10       \$30.15       \$68.24       \$102.36       \$161.33	4/22/2019	2.5	\$19.21	\$48.03	\$20.10	\$50.25	\$68.24	\$170.60	\$268.88
8/20/2019       9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16       \$967.95         9/25/2019       5       \$19.21       \$96.05       \$20.10       \$100.50       \$68.24       \$341.20       \$537.75         12/11/2019       1.5       \$19.21       \$28.82       \$20.10       \$30.15       \$68.24       \$102.36       \$161.33	5/15/2019	1	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
9/25/2019     5     \$19.21     \$96.05     \$20.10     \$100.50     \$68.24     \$341.20     \$537.75       12/11/2019     1.5     \$19.21     \$28.82     \$20.10     \$30.15     \$68.24     \$102.36     \$161.33	7/25/2019	1	\$19.21	\$19.21	\$20.10	\$20.10	\$68.24	\$68.24	\$107.55
12/11/2019 1.5 \$19.21 \$28.82 \$20.10 \$30.15 \$68.24 \$102.36 \$161.33	8/20/2019	9	\$19.21	\$172.89	\$20.10	\$180.90	\$68.24	\$614.16	\$967.95
	9/25/2019	5	\$19.21	\$96.05	\$20.10	\$100.50	\$68.24	\$341.20	\$537.75
1/21/2020 1.5 \$19.21 \$28.82 \$20.10 \$30.15 \$68.24 \$102.36 \$161.33	12/11/2019	1.5	\$19.21	\$28.82	\$20.10	\$30.15	\$68.24	\$102.36	\$161.33
	1/21/2020	1.5	\$19.21	\$28.82	\$20.10	\$30.15	\$68.24	\$102.36	\$161.33

**-** .

5	\$19.21	\$96.05	\$20.10	\$100.50	\$68.24	\$341.20	\$537.75
10	\$19.21	\$192.10	\$20.10	\$201.00	\$68.24	\$682.40	\$1,075.50
10	\$19.21	\$192.10	\$20.10	\$201.00	\$68.24	\$682.40	\$1,075.50
8	\$19.21	\$153.68	\$20.10	\$160.80	\$68.24	\$545.92	\$860.40
3	\$19.21	\$57.63	\$20.10	\$60.30	\$68.24	\$204.72	\$322.65
10	\$20.91	\$209.10	\$20.10	\$201.00	\$68.24	\$682.40	\$1,092.50
10	\$20.91	\$209.10	\$20.10	\$201.00	\$68.24	\$682.40	\$1,092.50
10	\$20.91	\$209.10	\$20.10	\$201.00	\$68.24	\$682.40	\$1,092.50
9	\$19.21	\$172.89	\$20.10	\$180.90	\$68.24	\$614.16	\$967.95
		Total Labor		Total Equip1		Total Equip2	GRAND TOTAL
		\$4,094.72		\$4,231.05		\$14,364.52	\$22,690.29
		\$6,805.72		\$4,991.05		\$22,116.52	\$33,913.29
	10 10 8 3 10 10	10 \$19.21 10 \$19.21 8 \$19.21 3 \$19.21 10 \$20.91 10 \$20.91 10 \$20.91	10 \$19.21 \$192.10 10 \$19.21 \$192.10 8 \$19.21 \$153.68 3 \$19.21 \$57.63 10 \$20.91 \$209.10 10 \$20.91 \$209.10 10 \$20.91 \$209.10 9 \$19.21 \$172.89  Total Labor \$4,094.72	10       \$19.21       \$192.10       \$20.10         10       \$19.21       \$192.10       \$20.10         8       \$19.21       \$153.68       \$20.10         3       \$19.21       \$57.63       \$20.10         10       \$20.91       \$209.10       \$20.10         10       \$20.91       \$209.10       \$20.10         10       \$20.91       \$209.10       \$20.10         9       \$19.21       \$172.89       \$20.10	10       \$19.21       \$192.10       \$20.10       \$201.00         10       \$19.21       \$192.10       \$20.10       \$201.00         8       \$19.21       \$153.68       \$20.10       \$160.80         3       \$19.21       \$57.63       \$20.10       \$60.30         10       \$20.91       \$209.10       \$20.10       \$201.00         10       \$20.91       \$209.10       \$20.10       \$201.00         10       \$20.91       \$209.10       \$20.10       \$201.00         9       \$19.21       \$172.89       \$20.10       \$180.90         Total Labor       Total Equip1         \$4,094.72       \$4,231.05	10 \$19.21 \$192.10 \$20.10 \$201.00 \$68.24 10 \$19.21 \$192.10 \$20.10 \$201.00 \$68.24 8 \$19.21 \$153.68 \$20.10 \$160.80 \$68.24 3 \$19.21 \$57.63 \$20.10 \$60.30 \$68.24 10 \$20.91 \$209.10 \$20.10 \$201.00 \$68.24	10       \$19.21       \$192.10       \$20.10       \$201.00       \$68.24       \$682.40         10       \$19.21       \$192.10       \$20.10       \$201.00       \$68.24       \$682.40         8       \$19.21       \$153.68       \$20.10       \$160.80       \$68.24       \$545.92         3       \$19.21       \$57.63       \$20.10       \$60.30       \$68.24       \$204.72         10       \$20.91       \$209.10       \$20.10       \$201.00       \$68.24       \$682.40         10       \$20.91       \$209.10       \$20.10       \$201.00       \$68.24       \$682.40         10       \$20.91       \$209.10       \$20.10       \$201.00       \$68.24       \$682.40         9       \$19.21       \$172.89       \$20.10       \$180.90       \$68.24       \$614.16         Total Labor       Total Equip1       Total Equip2         \$4,094.72       \$4,231.05       \$14,364.52

· a